
SAP ABAP table QAPS2 {Sample results for inspection point: individual values}

QAPS2

MANDANT [CLNT (3)]

PRUEFLOS [NUMC (12)]

PROBENR [NUMC (6)]

LTEXTSPR [LANG (1)]

KATALGART1 [CHAR (1)]

KATALGART2 [CHAR (1)]

KATALGART3 [CHAR (1)]

KATALGART4 [CHAR (1)]

KATALGART5 [CHAR (1)]

FEHLKLAS [CHAR (2)]

ESTUECKNR [NUMC (4)]

MASCHINE [CHAR (18)]

QAES

MANDANT [CLNT (3)]

PRUEFLOS [NUMC (12)]

ESTUECKNR [NUMC (4)]

 QAPS2-ESTUECKNR = QAES-ESTUECKNR 
0..N

{0,1}

QALS

MANDANT [CLNT (3)]

PRUEFLOS [NUMC (12)]
 QAPS2-PRUEFLOS = QALS-PRUEFLOS 

0..N

1

QASV

MANDANT [CLNT (3)]

PRUEFLOS [NUMC (12)]

VORGLFNR [NUMC (8)]

MERKNR [NUMC (4)]

PROBENR [NUMC (6)]

 QAPS2-PROBENR = QASV-PROBENR 0..N

{0,1}

T000

MANDT [CLNT (3)]
 QAPS2-MANDANT = T000-MANDT 

0..N

1
T002

SPRAS [LANG (1)]

 QAPS2-LTEXTSPR = T002-SPRAS 
1..N{0,1}

TQ15

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

 QAPS2-KATALGART1 = TQ15-KATALOGART 

1..N

{0,1}

 QAPS2-KATALGART2 = TQ15-KATALOGART 

1..N

{0,1}

 QAPS2-KATALGART3 = TQ15-KATALOGART 

1..N

{0,1}

 QAPS2-KATALGART4 = TQ15-KATALOGART 1..N

{0,1}

 QAPS2-KATALGART5 = TQ15-KATALOGART 

1..N

{0,1}

TQ17

MANDT [CLNT (3)]

FEHLKLASSE [CHAR (2)]

 QAPS2-FEHLKLAS = TQ17-FEHLKLASSE 

1..N

{0,1}


